Worksheet - VIII
Mathematics, SA - 2, 2014 - 2015

L/Construct a quadrilateral ABCD inwhich AR=4.5cm, BC=6 em, CD=5.6cm, DA =7.8cmand diagonal
A.C = 9 cm.

2. Constructa quadrilateral ABCD ir: which AB=4cm,BC=6cm, CD=5¢m DA=35¢em and diagonai AC=Tem,
3,/Construct aquadrilateral ABCD i whichAB=8¢m, BC=9¢em, CD=5cm, DA=67em anddiagonal BD =7 e,
4. Consiruct 2 quadrilaiera] PQRS in which PQ=5cm QR=55cm, RS =6 om, P =89 cmand £P=460°,

5. Construct a quadrilatera] ABCDinwhichAB=7 om, BC=4.1 om, AD =63 ¢m, diagopal BD =87 ernand
diagonal AC=89cm.

6Consinict a quadrilaieral ABGD in which AB=6.5¢m, BC =550, DA =38 om, ZA=50° and /B =707,
7. Construct a quadrilateral ABCD with BC=55¢em,CD=4¢m, DA=4 em, ZC=90%and /D =85°,
& Construct a quadrilateral PORS inwhich PQ=4.5 ¢m, QR=7.5cm, £P=100°, £Q=85and LR=75°,

9,/Construct a quadrilateral PQRS in which the sides are PQ=5cm, QR=83¢im, RS =64 em, SP=9¢mand
48 =90°,

10. Construct a quadrilateral LMNG in whichLM=5cm, MN=6.5cm, /1= 75 %, LM =105°and /N=120°.
1L Construct a quadrilateral ARBCD in which AB=4.1cm, BC=3.8cm, ZA = 60°, ZC=82°and £B =125°,

12: Constructa paralleiogram, one of whose sides is 5.5 cm and whose diagonals age 5.8 cmand 7 ¢m.
| 2 Construct a paral lelogram, one of whose sides is 6 cm and whose diagonals are 6 cmand 8 cm.
,;{.1, Construct a parallelogram ABCD in which AB=4.5cm, BC=4 ¢m and diagonal AC=6.2 ¢m,
| 5 Constructa parallelogram ABCD in which AR = 6.5¢m, AD=3 cmand diagonal BD =4.9 cm.
I ConsiructaparalilognmOk Y jyy (et ok = 5 et KR = 60m gred cyksoe,
| "j'/ Construct a rectangle ABCD whose sides are 6 cmand 3 om,
(& Constructa parallelogram PQRS in which QR=4em,PQ=55cm and £Q=78°,
|Q/Constmcz aparallelogram whose diagonals are 4.4 ¢m and 7.4 ¢m, and an angle between them is75°,
20, Lonstruct a tectangle ABCD whose one side is 4 ¢m and diagonal is 5 cm,
21 . Constructs parallelogram ABCD in which BC =3 5 em, £C=80°and CD =4 ¢,

1]1ISR Worksheets/VIllI/Mathematics /SA2




92 Consh'uctareaangleABCthoseonesidciSS.Scmanddiagonalichm.
23. ConsmlctarectangchBCthmesidesaxMcmanchrxi.

4. Constructasquare, eachof whose sides measures 4.4 cm.

25. Commwtasquar&eachofwhmdiagonalsmsammﬁécm.

26~ Construct 2 thombus whose diagonals are 5 cm and 6 cm.

27 Constructarhombus with side 6.4 cm and one of whose angles is equal t0 70°.
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Find the cowdmam of rhe fohong points from the given grapk. Also, name the quadran in
which they lie. :

"var‘yq.'f PIT
PR 'F--‘A.

£ Usingihe following dalaof thetexnperamrcat 120'clock dunng aocnmnweek Plot the graph between temperaiire
J VﬁsuSday. . - S — - - PR

Day "7 Mon Tme Wel Tm Fi Set Sm

Temp (nn °C) 35°C  34°C 37°C ’%9°C 42°C 36°C 40°C

G. Drawthegraphbetweenﬂdeofacubeandvolumcofacube g d_a e 2 1 3 | & [§—|

3 Plot the graph of 7 and its multiples. Vol in c,m3| CREE; [ 64 ! 15251

Is it alineas 3«1010!0-
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1, Thegrowth ol 2 piaut was recarded a5 & graph shown beliow.
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Read i carefully ami fimd.
() Attheend of which week(s) was the plant no more than 12 cm?
(i) Between whichwo weeke was there the greatest increase in height?
() How much did the plant grow from 3rd week to 4th week?
5. 4 dlstanee-time table of 2 meving car s given below.
y | 1020am 1030am 10402m 1050am. 1iG0am
) B 7 % 2

1:10am,

Distemes (i ki) 0 3
§) Using graph paper, plot 'the oraph of distance versus time.
(§) When was the car travelting at the gisatest speed?

(i Whatjsthe speed between 10:4010 10:50 am.?

(iv) hat is the average speed of the car?

[Hings Average speed = Towal distance travelted/
total time taken.]

i1:20a.m
38

%, Read the following distance e grapk of s ear

h ] v k-]
g s,

@ Distance travelled from CioE.

4) Speed of the car between 20 - 40 seconds.

N

() When is the speed of the car zer0?
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L Iuitiple Choice Questions.
L, Thex-coordinate of an ordered pairis calied;
@) ordinate (i) abscissa
7 A lincar function is denoted by:
M x=y+2 @ 2=b-a
3 Thecoordinate P(3, 0) lies on:
() ogin (i) x-axis
4. The coordinate (=2, 3) lies in:
i) 1stquadrant (i) 3ed quadrant
5. The Cartesian plane has:

(@ 2 quadranis {i) 3 ouadrants

Tl is the Blerks,
& The signs of a coordinate in 2nd quadsant are

7. The orcered pair of origin ‘O’ is written as

(i) intercopt

(i) @ = cx + yb

(iif) y-axis

(@) 2nd quadrant

(i) 4quadrants

8, The coordinate T(=3,-5) lies in

qQuadant,

% "The horizontal axis of a Cartesian plane is called

18, Thecoordinate L(0,~7) lies infon

LS, Tiek () for “True’ snd () for ‘Vaise’,

KL, The origin of the axes system fiesin st quadrant,

12, The tinear graphs are represented a5 lines,

L3, The quadrants of the Cartesian plane sre named in clockwise direotion.

14, The vertical axis of the Cartesian plans is denotod a5 YO,

15, InP(x,y),yis the abscissa.

(iv) orighn

V) y=mx+c

(iv) none of these

(iv) 4th quadrant

(iv) 5quadrants
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